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1) 5% of ber is 15. The number i 10) 45% of 247 = 20% of 4.375
0 Of a numper 1s 1o. e number 1s.
a) 4.55 b) 3.735
15 2,0T) ROB;OD 5% W3 20T 8 0.25 Edg 05
R0835003), FOTICEADID?
(@150 () 200 11) S0 49 + 20% of 130=2 + 49 |
(©)250  (d) 300 ) 70 ol : G
(a) 18 (b) 15
2) 2.63% of 32 (12 (4)dal
(@) 225 (b)2.40
(9250 (d)1275 12) 35% of? = of 48 + 62
3) 6/5=2% (a) 280 (b) 245
(@)20%  (b) 40% (C) 265 (d) 230
(©) 100% (d) 120% 1
13) 7% of 6144 = 2-x 245.76
4) 37.5%0f 680 is? (a) 16 (b) 20
0303 A035 680 BE), 37.5% €3NI (©)5 (d) 10
(@)300  (b) 255
(c) 245  (d) 2355 14) One-fifth percent of 520 is?
520 T e oW | ienassd,
5) 75% of whatarea is 15 squares meter? 20RIBBNID?
15 23030 CEI0S FK3T 75% DR, ? (a) 0.104 (b) 1.04
(@) 10m2  (b) 15m? (C) 104 (d) 104
(c) 20m? (d) 25m?
6) The number 0.05 is what percent of 20%? 15)5% of (25% of Rs 1600) is?
0.05 0835 20% < FTT30030 d&R,,? 5% (1600 25%) €9:3), FOWIGEAND?
(@) 0.25% (b) 0.30% (a)Rs5 (b) Rs 17.50
(©)30% (d)40% (c) Rs 20 (d) Rs 25
7) What percent of 3 meters is 75cm? 16)13937.869 + 199.54 + 15% of 201 =?
3 eDICEIT 75 H0.eC. FeBT305303) dE),? (a) 150 (b) 90
(@) 10% (b) 15% (c) 80 (d) 100
(©20% (d)25%
17)If 15% of 40 is greater than 25% of a number by
2, find the number.
8) X’ S50, TOWITONID 40 0C). 15% 2 Dorw 25% 8,03 B335,
If 65% of x -375% of x = 44.55. The value of x is RO8B503™0, FOBICLAND
(@) 160  (b) 162. (a) 16 (b) 20
(C)164  (d)158 (c) 24 (d) 32
9) 45% of? + 30% of 90 = 30% of 210 18) 5 out of 2,250 pE_I["lS (}I-.the fearth is SCUI-p‘;UrE‘.
(@120  (b) 80 The percentage of sculpture in the earth is?
(©60  (d)90
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B3@eOD 2,250 Jnnee) 5 e Bed.
BRDOPNAS e F3AH FFT30e900)

NIV
(@) 4/9% (b) 2/9%
(©)1/2% (d) 2/5%
19) What rate percent is one minute 12 seconds to
an hour?
20T DeddRT 12 AFOTFNPOT 2.0TN
noé3od) B3 FHTo0B) dRY,?
(@) 2% (b) 3%
(©) 4% (d) 5%

20) Rupa spends 75% of his salary and saves Rs
150 per month. Her monthly salary is?

B0 3T, A0WFT 75% DWDE 300BITAS

203, 3oN¥N 150 BLe. 9z3¥ AT ROV

(a) Rs 300 (b) Rs. 350
(c) Rs 600 (d) Rs 700

21) The number of students in a class increases
from 900 t0 936 due to mixing of sections.
Determine the percent increase in number.

DLINNY LNTLODOTION 20T 3TRIOH
DWOsDFNY F0a3s 900 Dow 936 B,

3B230,MH3 3. 2083500) 3 Hce
B3 F @By DFEDA

(a) 4% (b) 6%

() 8% (d) 12%

22)22. A’s income is 150% more thanB’s. By how
much percent is B’s income less than A’s?

A S e300y B NOI 150% @B239,NT3. 2)

300N  DANO3 R, I
BEREDOINGI?

(@) 45% (b) 50%

(c) 60% (d) 70%

23)A candidate who gets 20% marks in the
examination fails by 30 marks but another
candidate who get 32% marks get 42 marks
more than the minimum pass marks. The pass
percentage is:

TOFZODS),  20% OINYI), BRI
923:DEO 30 WOTRPLOTW PR3
32% 90TNYR, VBB AR,
e923;DEO) TR, VILEIE HOTNLNOI
42 90INYI), VBRIV, GV3LEDE

b G DINDIOM
(a) 25% (b) 33%
(c) 36% (d) 40%

24)What will be 160% of a number whose 200% is
1407

200% 140 &3N3 AO0B;0D  160%
o) T?
(a) 200 (b) 160
(c) 140 (d) 112
25) (x% of y + y% of x) =7 if xy = 30,000
(a) 900 (b) 800
(c) 600 (d) 300

26) Standard gold contains 22 parts.of pure gold to
2 parts of alloy. The percentage of alloy in a
sovereign which is made of standard gold is?
AR, ;OBTFE W3 T, BWI,W 22 PNney,
LNFSADBE 2 PINNTR), BRODIIA.
B0 3 B,D0T BB, L, AOIELTNTE),
N3RS FFTTRB FOWIGTBAND?

(@) 11% (b) 12%
(©) 25/3% (d) 34/3%

27) If the price of kerosene be raised by 10%, find
by how much percent a house holder must
reduce his consumption of kerosene so that not
to increase his expenditure?

20RO W30, 10% T3, ATT,
Y BRODD[R[B) I, DWEIY,
BB,ARB03 AR, AR, ALY,
T3 VWL OWITI, TOTITRL,?
(1) 10% (b) 9.09%
(©) 9.0% (d) 8.25%

28)Divide Rs.8800 into two parts such that one
part is 10% of the other.

Pa
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C/o .8800 €930, T INNFIN JOTER), Be.N03 B3, D). 0N TE). 2.5%
0BT 20T Yoned 10%. VIR0 SABRENT,  WBUANATING. BRI
230N, FOTITAND? ARBRHIOD  TyFod 93 AOLRBS
(a) 4,800.4000 (b) 8000, 800 RBRB ABeBIN03 600 Be. 23,30,
(c) 7000, 1800 (d) 7200, 1600 9530 3500063 3505 ER),?
_ (a) Rs 12000 (b) Rs 14000
29) A reduction of 12.5% in the price of a dining (c) Rs 16000 (d) Rs 18000
table brought down its price to Rs.4375. The
original price (in Rs) of the table was? 33)33. Naveetha donate 10% of her money to
P& BT BSohe), 125% [R), Prime Minister Relief fund, 30% of the rest to
T3 s V3ohS), Te 4375 T, temple and 20% of the rest to her cousin. Now,
QP2 3). éjfza@& DR 23e3 (Cw.) still she has Rs 6,300. Her money was. What
(a) 6000 (b) 5400 was the total income of Naveetha?
(c) 5200 (d) 5000 FVedlTo 3T, BT 10% SR, TBEIS
o) DOTOT iR DECTI0.Y. DT 30%
30) If three-fifth of a number is 40 more than 40% B3, TeROODT, DI),  20%
of the same number. The number is? B3, PR RACTTROWODR 9a3eh
z"omfogﬁéw 000, 0T oried BREL). BN, BXR, 9 WD 6,300 3.
(Sl N0935C1b 40% '8'303 Eﬁ?ﬁ)w ’HCdmd e953e3 &Swmﬁéjﬂ [Ae30 9338 Z‘Jé\bes
R0835;00T3), FOTWIGEAID? S od) o 7
W,
(4} 100 (b) 150 (a) Rs 12,500 (b) Rs 10,000
(e)ie08 (%00 (6) Rs 14,000 (d) Rs 15000
31)5% of mcom.e'of Ais qual FO 15% of income Of_ 34)300 grams of sugar solution has 40% sugar in it.
B X250 of e of B"S equal to 20% of How much sugar should be added to make it
income of C. If income of Cis Rs 2000, then total 509 in the Solution?
income of A,B& Cis 35 o
S e T B DR g 300 M0 AF,8 Wy3e3e), 40% 73,0 /.
- 9WHTRE),  50%  TRBED WY,
RDDTNI R &3y, 2 30T 10% A e
0B 3TIORT 20% 7 FeToe0eNTHI3. 2 & () 10 gmﬂl ~ E"b) ol
Umo:b@ 2000 Tue. Uﬁdmd, e, 29 do:cig, A © 60gm (d) 80gm
e, e3TIVOD
(a) Rs 20,000 (b) Rs 18000 35) The price of an article is cut by 20%. To restore
(c) Rs 14000 (d) Rs 6000 it to the former value, the new price must be
increased by
32)A salesman’s terms were changed from a flat 3T 33003, 20%
commission of 5% on all his sales to a fixed - o
salary of Rs 1000 plus 2.5% commission on all ;E%éﬁ@@mmhd; o 6:9532?:)& OB
; : : e A 5T, TNVA,DREN, BRA 23300,
sales exceeding Rs 4,000. If his remuneration as =
per the new scheme was Rs 600 more than by 028, A2
the first scheme, what was his sales wrath? (a) 20% (b) ZSEA’
00 EMITT JODEDRTRY, IS 8, (€) 50/23%: () 24%
FRTIET 5% IR, AL TR OTS
1000 Sw. N¥ A0 (33 D3I, 4,000
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36) The rate of inflation was 1000%. Then what will
be the cost of an article which costs 6 units of
currency now, two years from now?
DRNW,C W3 1000% e3N3). a3 6
[RENY  FTCQ,0DI,; BN AT
BRENFIOR PLHE 235083283 ST 2363

DTRY,?
(a) 666 (b) 660
(c) 720 (d) 726

37)Ram purchased a flat at Rs.1 lakh and Prem
purchased a plot of land worth Rs.1.1 lakh. The
respective annual rates at which the prices of
the flat the plot increased were 10% & 5%.
After two years they exchanged their
belongings, and one paid the other the
difference. who was paid difference amount to
whom?
O 1 ©OF TR\ 20T e,sts
DODAT3) DI, Bk* S 1.1 OF
AVEI DI 250, DOEDATIT.
BORRIS  BSneh B esadse
DONFT BONY 10% NI, 5%. DT
SRERY S0I0 9530 ey, SRLNT,
)TN0 R BTROBD), aDI), 220,38
BWIRWON T TosAESDy - OLRTT.
eviplelat e35305A ANOIC IR TN
@3 3RIDN?
(a) Ram paid Rs 275 to Prem.
(b) Ram paid Rs 475 to Prem.
(c) Ram paid Rs 2750 to Prem.
(d) Prem paid Rs 475 to Ram.

38)Water tax is increased by 20% but its
consumption is decreased by 20%. Then, the
increase or decrease in the expenditure of the
money is?
QLD 3RO, 20% 323, RN STW3
9T WET 20% TR, TLDOINTI. TBLIT
23,036), B3, P 90 YPT FOWIBTRE,:
(a) No change (b) 5% decrease
(c) 4% increase (d) 4% decrease

39) The price of a Maruti car rises by 30% while the

sales of the car come down by 20%. The percent
change in the total revenue is?

2330028 ToOR 233 30% T, &DOTF O3
FI0 23000083 20% O,
BRDOMNILS. W, ST,

FHT30 WD daER),,?
(a) -4 (b) -2
(c) +4 (d) +2

40) The population of a town increases 4% annually

but is decreased by immigration annually to the
extent of (1/2) %. What will be the increase
percent in 3 years?

BT BIROB5O) DOAE TavoN 4%
327,333 €333 FWORANOT
PORAE TN (1/2) % TR,
FRDOIMIE. 3 [RENYE), BREY

T DR),?
(a) 9.8 (b) 10
(c) 10.5 (d) 10.8

41)The price of sugar increases by 32%. A family

reduces its consumption so that the
expenditure of the sugar is up by 10% only. If
the total consumption of sugar before the price
rise was 10 kg per month, then the
consumption of sugar per month; at present (in
kg) is?
ATV B3 32% DVWLF,MIT. 20T
PEV0WEY BT WFFTODI,; TR
3103233 B0 BB, 323,53 Fea3e>
10% BaR),, B, M3 . 233 HTIEI B3T3
AFZRO0D 28, WFF donenR 10 F.28
SNB.3, 3ONPLR AR, AT,T WPT; JA)3
(FRODE),) e3NT3

(a) 25/3 (b) 17/2

(c)35/4 o

42) Thelength of rectangle is increased by 20% and

the width is decreased by 20%. The area
decreases by

2WOTD 3003 VT3 23304 20%

D23, ANE DI, 9Ny 20% dﬁaﬁ
a
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FRIDOING. S0NIT  DALHE DR,
FTRDOIIRVMB T DOWITR, FOBITRY,.
(a) -0.8% (b) -1.2%
(c) - 4% (d) -8%

43) Salaries of AB & Carein theratio 1: 2 : 3. Salary
of B and C together is Rs 6000. By what percent
is salary of C more than that of A?
RNW DI, A 3IINe  1: 2: 3
9RNTOIWS. 2) eNI), A 2w oW
6000 8. A 0D FOWY DNOI B3, &@),?
(a) 300 (b) 600
(c) 100 (d) 200

44) A student took five papers in an examination,
where the full marks were the same for each
paper. His marks in these papers were in the
proportion of 6: 7: 8: 9: 10. In'all papers

together the candidate iobtained 60% of the
total marks. Then the number of papers in
which he got more than 50% marks is

2,2, edWDEORN)  J[OCFONE), 80TH
BYBFRTT, INTNFROB, ©9¢). Ty
TINTTR, WEEIE  IOTNY)  2OTX
S3NTI 3. B9 BYTRYE), 9530 LIOTNYD 6:
7: 8: 9: 10 T e90D3WNI. e,
BYBNFS),  2,630,N  93:DFODY 2830,
OBTNP). 60% BBBR. €933 50% 8,03

BVeP),, OINYIF), BB BIINY
2083500, FOBIGLAD

(a) 2 (b) 3

(c) 4 (d)5

45)In a company 40% are males, out of which 75%
earn a salary of 25,000 plus. If 45% of the
employees getting 25,000 plus salaries. What is
the fraction of female employees earning less
than 25,0007
FOBIODE), 40% FTHRD, €938, 75%
O&),, 25,000 ROWFRI, NPAITT. 45%

NWRLNANASY 25000 B3I  FAowd
B[RO BT, 25,000 3,03 TR NPRITI
P NWRLNNY 2IMe3C30?

(@) 1/4
(©)3/4

(b) 3/7
(d) 5/9.

46)Which one of the following shows the best
percentage?
& BINIIYNYE).  cdesdcd  evdEd
FH T30 TjeIee3 ), 3LDAITEI?
a) 384/540  (b) 425/500
(c) 570/700 (d) 480/660

47)In a Group of 52 students 25% from science and
others from commerce. There are 20 females in
group of whom 55% are commerce. How many
are science males are there in the class?

52 DWDFNT MODTC). 2T, SDOTI
25% 2303), 930 5303%5D0T. THODTE),
20 DDHOFODNT) VDT, ©933€).  55%
D089%s. IVNBONE). WA DTIRDD

AR, O BTI.T?
(a) 13 (b) 4
(©) 2 (d) 35
48) 40% of 1640 +? = 35% of 980 + 150% of 850
(a) 372 (b) 842
(c) 962 (d) 1052

49) If x is 90% of y, then what percent of x is y?

(a) 90% (b) 1000/9%
(€)909/9% (d) 190%
50)Evaluate: 50/3% of 600 gm —100/3% of 180
gm.
(a) 16 gm (b) 33 gm
(c) 40 gm (d) 50 gm

51)If A’s salary is 20% less than B’s salary, by how
much Percentage is salary more than A’s?

R AOWYR) 2 JOWYB,03 20% Tl

BBPZ, X J ROWY W NO3 R,
HBBORT) TVLD,,?
(a) 25% (b) 20 %
(c)100% (d) 4%
Pa
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52)If the Price of sugar is raised by 25%, find by
how much percent a housewife should reduce
her consumption so as not to increase her
expenditure?
"5,000 RBSod, 25% 3328,AC3,
1,203 03.02),%) 33, VWBE, 323,303
33, WYTODD, R, IHTBo TN

T LICT) DOT TOWITRL,?
(a) 25% (b) 20 %
(c)100% (d) 4%

53) The price of sugar was increased by 20% and
then reduced by 10% if the reduced price is Rs
10.80 kg, find the original price of 8 kg of sugar?
27,803 2330303, 20% 3B23,A SO3T 10%
O&), TRIINPPAT 23¢3 10.80 TF22 On
SNRE3, 8 B RB,30H a0 330300,

FOrIGBRAND?
(@) Rs100  (b)Rs 80
(€) Rs 60 (d) Rs 25

54)If the length of a rectangle is decreased by 50%
and the breadth is increased by 80%. Then find
the % change around rectangle?

WOTD eSONIT W) 50% TR,
FTRIDOIWE  aNI),  eINedI),  80%
BB ABC. S03T S30D3TW A3 OR%
WTEIRRTBODV, FOTBIGLOINTY)TI?

(@) 25% (b) 20 %

(€)10% (d) 4%

55)The Population of a town increased from
50,000 to 52,000. Find the increased
percentage of town?
WOR) BT IR0 50,000 DOT
52,000 ¥, DA BE,LT BRI
FH T30 B)e0eaes), TOWITRY,?
(a) 25% (b) 20 %
(€)100% (d) 4%

56)A towel was 50 cm broad and 100cm long.
When bleached, it was found to have lost 20%

of its length and 10% of its breadth. Find the
percentage of decrease in area?

2,03 &3 50 F0..AE R NI, 100
0.0 02T Doddren, BT BRI
20% 03, W3 eNOT 10% IR, N
DO FOWIWONE. FTEITAS YPTOD
F B30T B0y FOWITRY,?
(a) -22% (c) -28 %

(b) -32% (d) - 4%

57)A student must obtain 40% marks to pass. He
obtains 210 and fails by 40 marks. Find the
maximum numbers of marks?

ITIVRDEO eV3LeaETane) 40%
HOFINYI), JBoDIH. 938> 210

NYATT DI, 40 03NLOT
LDFOTIMIVT. noaR, 208350
90TNY, FOLBIGRAND?

(a) 625 (b) 800

(c) 600 (d) 750

58) From a man'’s salary 25% is deducted on house
rent, 20% of the rest is deducted on education
of children and 40% of the rest deducted on
food, still he is left with Rs 9,000. Find his

salary?
T/ AOWFDOTW 25% 93, 0T
Wonin FRINPLAIMIT,

NPTRIHNTS), 20% 930, DBFY DT
e FRIRPPAMIE DI, oI
40% €930, €3300003 a0ee3
FRINPPRIMIT, VSR, ©EI WP

9,000 Ow. €933 ROWFTI,
FOWICOAND?
(a) 62500 (b) 80000
(c) 60000 (d) 25000
Pa
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59)In a fruit basket, apples and oranges are in the

ratio 2 : 3, what is the percentage of apples in
basket?
DV 20E3,0DH)., A2 2B, $3Y 2: 3
9NTOIWD.BZ 3, 2€83,.00E), AN
HIT3020000 DE),,?

(a) 25% (b) 20 %

(c)10% (d) 40%

60) A maximum of Alcohol and water contains 35%
alcohol by weight. 40 gm of water is added to
such 100 gram of mixture. What percent of
alcohol is present by in new mixture?

RO, e3e30,0e> NI, EDIC). 35%
ese3plmoey YDNI3W. ©903m 100 M0
NTE0F, 40 NYO AT, ALDRTHIT.
BRA  NIE) oo ITcee
e33R, meey YB3 I3?

(a) 25% (b) 20 %

(€)10% (d) 40%
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